
CHEMISTRY

BOOKS - MS CHOUHAN

GENERAL ORGANIC CHEMISTRY

Level 1

1. How many  Hydrogen atoms are present in the given following

compound ? 

A. 2

B. 5

2∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_W617xMNih9u7


C. 7

D. 8

Answer: C

Watch Video Solution

2. Identify which functional group is Not present in the given following

compound ? 

A. Ketone

B. Ester

https://dl.doubtnut.com/l/_W617xMNih9u7
https://dl.doubtnut.com/l/_fwVRAQ4CETdh


C. Amide

D. Ether

Answer: D

Watch Video Solution

3. Correct energy profile for amine inversion and hybridization of

nitrogen in transition state is: 

A. 

https://dl.doubtnut.com/l/_fwVRAQ4CETdh
https://dl.doubtnut.com/l/_U7vpn6W28Rpb


B. 

C. 

D. 

Answer: D

Watch Video Solution

4.  


Correct order of the heats of combustion of above compounds is:

https://dl.doubtnut.com/l/_U7vpn6W28Rpb
https://dl.doubtnut.com/l/_MHNRLkqqf7Pj


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(i) > (ii) > (iii)

(i) > (iii) > (ii)

(ii) > (i) > (iii)

(ii) > (iii) > (i)

5. Which of the following is not a resonance structure of the others ?

A. 

B. 

https://dl.doubtnut.com/l/_MHNRLkqqf7Pj
https://dl.doubtnut.com/l/_hOdClbIt8IA6


C. 

D. 

Answer: D

Watch Video Solution

6. Rank the hydrogen atoms  present in the following

molecule in decreasing order of their acidic strength. 

(Ha, Hb, Hc)

https://dl.doubtnut.com/l/_hOdClbIt8IA6
https://dl.doubtnut.com/l/_Z4d0NmiAlBUS


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a > b > c

b > a > c

b > c > a

c > b > a

7.  , 

The correct relation between the bond lengths a and b is:

CH3 −

O

∣ ∣

C −
a

O −
b

CH3

https://dl.doubtnut.com/l/_Z4d0NmiAlBUS
https://dl.doubtnut.com/l/_hlS2OH0uD6V2


A. 

B. 

C. 

D. Impossible to predict

Answer: B

Watch Video Solution

a = b

b > a

b < a

8. The number of  sigma bonds in the compound given below is

: 

A. 1

sp2 − sp2

https://dl.doubtnut.com/l/_hlS2OH0uD6V2
https://dl.doubtnut.com/l/_PR1bzsM72wDF


B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

9. The total number of lone pair of electrons in the given molecule is : 

A. 2

B. 3

C. 4

D. 5

https://dl.doubtnut.com/l/_PR1bzsM72wDF
https://dl.doubtnut.com/l/_iVLCHsTgketn


Answer: B

Watch Video Solution

10. Which of the following rings is highly strained ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_iVLCHsTgketn
https://dl.doubtnut.com/l/_CxertVy75AvJ


D. 

Answer: C

Watch Video Solution

11. The functional groups present in Cortisone are : 

A. ether, alkene, alcohol

B. alcohol, ketone, alkene, ether

C. alcohol, ketone, amine

https://dl.doubtnut.com/l/_CxertVy75AvJ
https://dl.doubtnut.com/l/_9sWGpijIZpyo


D. ether, amine, ketone

Answer: B

Watch Video Solution

12. Select the acid with the highest Ka (i.e., lowest  )

A. 

B. 

C. 

D. 

pKa

https://dl.doubtnut.com/l/_9sWGpijIZpyo
https://dl.doubtnut.com/l/_pNU6n9AlR5jb


Answer: B

Watch Video Solution

13. Most stable carbocation among the following is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

⊕ CH3

https://dl.doubtnut.com/l/_pNU6n9AlR5jb
https://dl.doubtnut.com/l/_LXVCaO1pN9B9


14. Arrange the following in increasing order of their  values. 

(x)  (y)  (z) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

pKa

CH3 −

O

∣ ∣

S
∣ ∣

O

− O − H CH3 −

O

∣ ∣

C − O − H CH3 − OH

y < x < z

x < y < z

y < z < x

x < z < y

15. Which is the major product of the following reaction ? 

https://dl.doubtnut.com/l/_OOGzMXIv9fkM
https://dl.doubtnut.com/l/_DDpyHJz50f2E


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

16. In the given pair identify most acidic compound in (A) and (B). Most

basic in (C) and (D). 

https://dl.doubtnut.com/l/_DDpyHJz50f2E
https://dl.doubtnut.com/l/_BcLeo34UAY7R


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A − I, B − II, C − I, D − II

A − II, B − I, C − I, D − II

A − II, B − II, C − II, D − II

A − I, B − II, C − I, D − I

17. Several factors (steric, electronic, orbital interactions etc.) can affect

the inversion barrier of an amine. In the given pair which data is correctly

placed ?

https://dl.doubtnut.com/l/_BcLeo34UAY7R
https://dl.doubtnut.com/l/_MUhM28q8s3SF


A.  


B.  


C.  


D. All of these

Answer: D

Watch Video Solution

ΔG± = 7.9kcal/molΔG± = 0.2kcal/mol

ΔG± = 20.5kcal/molΔG± = 7.0kcal/mol

ΔG± = 7.9kcal/molΔG± = 22.9kcal/mol

18. Select the response that correctly identifies the number of carbon

atoms of each type of hybridization in the compound given below 

A. 

H2C = C = CH − CH = O

sp3 sp2 sp

2 2 0

https://dl.doubtnut.com/l/_MUhM28q8s3SF
https://dl.doubtnut.com/l/_7YEWykNXKjxY


B. 

C. 

D. 

Answer: C

Watch Video Solution

sp3 sp2 sp

1 3 0

sp3 sp2 sp

0 3 1

sp3 sp2 sp

1 2 1

19. Circle represents most basic atoms in these molecule. Which of the

following is correct representation ?

A. 

B. 

https://dl.doubtnut.com/l/_7YEWykNXKjxY
https://dl.doubtnut.com/l/_SG4tenoqM7bU


C. 

D. All of these

Answer: D

Watch Video Solution

20. Circle represent most acidic hydrogens in these molecules. Which of

the following is correct representation ?

A. 

B. 

https://dl.doubtnut.com/l/_SG4tenoqM7bU
https://dl.doubtnut.com/l/_jynWeWm9mBdd


C. 

D. All of these

Answer: D

Watch Video Solution

21. Arrange the following in decreasing order of their acidic strengths. 

A. 

B. 

C. 

D. 

Answer: C

A > C > B > D

A > D > B > C

A > D > C > B

D > A > C > B

https://dl.doubtnut.com/l/_jynWeWm9mBdd
https://dl.doubtnut.com/l/_FFX8iUrDwP9e


Watch Video Solution

22.  


The correct order of heats of combustion of above compounds is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I > II > III

II > I > III

III > II > I

III > I > II

https://dl.doubtnut.com/l/_FFX8iUrDwP9e
https://dl.doubtnut.com/l/_IfxENiKqSzkB


23.  

Compare carbon-carbon bond rotation across A, B, and C

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A > B > C

A > C > B

B > A > C

B > C > A

24. Which of the following acids would have a STRONGER CONJUGATE

BASE ? 

https://dl.doubtnut.com/l/_FWwN8XG4Hzrk
https://dl.doubtnut.com/l/_6tjBee8GK09z


 


(C) 

A. 2,4,6

B. 1,3,5

C. 2,3,5

D. 1,3,6

Answer: A

Watch Video Solution

CH3C ≡ CH  vs CH3CH = CH2

https://dl.doubtnut.com/l/_6tjBee8GK09z


25.  , Major

products of the reaction is (are):

A. 

B. 

C. 

D. both (b)& (c)

https://dl.doubtnut.com/l/_wNG5DFLOfWga


Answer: D

Watch Video Solution

26. Which of the following compound is most stable ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_wNG5DFLOfWga
https://dl.doubtnut.com/l/_fTrQrMpoDBB6
https://dl.doubtnut.com/l/_qXdQntRjawws


27. Selected bond angles for six hydrocarbons are shown below. Arrange

these hydrocarbons according to their  values, from the lowest to the

highest. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

pKa

V < I < V I < II < III < IV

IV < I < II < III < V < V I

II < IV < I < V I < V < III

I < V < IV < III < II < V I

https://dl.doubtnut.com/l/_qXdQntRjawws


28. Which statement about the following equilibrium is true ? 

A. The equilibrium favours the products

B. t-Butoxide is the dominant anionic species in the equilibrium

C. Water is the weaker acid

D. t-Butoxide is stabilized by resonance

Answer: A

Watch Video Solution

29. Consider the following reaction involving two acids shown below :

formic acid and HF. 

 

https://dl.doubtnut.com/l/_7wlcFQ4tk0sg
https://dl.doubtnut.com/l/_OrBePAujV2f5


Which of the following statements about this reaction are true ? 

(A) Formic acid is the strongest Bronsted acid in the reaction 

(B) HF is the strongest Bronsted acid in the reaction 

(C) KF is the strongest Bronsted base in the reaction 

(D)  CH is the strongest Bronsted base in the reaction 


(E) The equilibrium favours the reactants 

(F) The equilibrium favours the products 

(G) Formic acid has a weaker conjugate base 

(H) HF has a weaker conjugate base

A. A, D and F

B. B, D, and H

C. A, C, and H

D. B, D, E and H

Answer: D

Watch Video Solution

KO2

https://dl.doubtnut.com/l/_OrBePAujV2f5


30. Which one of the following compounds has non zero dipole moment?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_og6io8kw7GOx


31. Which one of the following has the smallest heat of combustion ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Wg5x2liUvK23


32. Rank the following substances in order of decreasing heat of

combustion (maximum  minimum). 


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

→

1 > 2 > 4 > 3

3 > 4 > 2 > 1

2 > 4 > 1 > 3

1 > 3 > 2 > 4

33. Which of the following has lowest  value ?

A. 

pKa

https://dl.doubtnut.com/l/_Wg5x2liUvK23
https://dl.doubtnut.com/l/_Vz4C7JCynUiU
https://dl.doubtnut.com/l/_YDdxbOy7vQgQ


B. 

C. 

D. 

Answer: D

Watch Video Solution

34. Arrange the following (w, x, y, z) in decreasing order of their boiling

points: 

https://dl.doubtnut.com/l/_YDdxbOy7vQgQ
https://dl.doubtnut.com/l/_jLxwII6OzTMK


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

w > x > z > y

w > x > y > z

w > z > y > x

w > z > x > y

35. Arrange the following in increasing order of their acidic strength. 

A. 

B. 

C. 

D. 

III < I < IV < II

II < I < IV < III

I < III < IV < II

II < III < I < IV

https://dl.doubtnut.com/l/_jLxwII6OzTMK
https://dl.doubtnut.com/l/_Mp1OzP0msT8H


Answer: D

Watch Video Solution

36. How many degrees of unsaturation are there the following

compound? 

A. 6

B. 7

C. 10

D. 11

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Mp1OzP0msT8H
https://dl.doubtnut.com/l/_0pIv5HgVZoeD


37. The heat of hydrogenation for 3-methylbutene and 2-pentene are -30

kcal/mol and -28 kcal/mol respectively. The heats of combustion of 2-

methylbutane and pentane are - 784 kcal/mol and -782 kcal/mol

respectively. All the values are given under standard conditions. Taking

into account that combustion of both alkanes give the same products,

what is  (in kcal/mol) for the following reaction under same

conditions ? 

A. 0

B. 

C. 

D. 2

Answer: B

Watch Video Solution

ΔH

−4

−2

https://dl.doubtnut.com/l/_0pIv5HgVZoeD
https://dl.doubtnut.com/l/_7fI9t5xkS09m


38. Which of the following o-bonds participate in hyperconjugation ? 

A. I and II

B. I and IV

C. II and V

D. III and IV

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_7fI9t5xkS09m
https://dl.doubtnut.com/l/_VLuIzIMplIH6


Watch Video Solution

39.  

Decreasing order of acidic strength of different (-OH) groups is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

w > x > y > z

w > z > x > y

z > w > x > y

z > x > w > y

https://dl.doubtnut.com/l/_VLuIzIMplIH6
https://dl.doubtnut.com/l/_IhjxeuRetIOU


40. Arrange the following alcohols in decreasing order of the ease of

ionization under acidic conditions. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I > III > II

I > II > III

II > III > I

II > I > III

41. Among the isomeric amines select the one with the lowest boiling

point.

https://dl.doubtnut.com/l/_7xrHvRoQPMMU
https://dl.doubtnut.com/l/_AFBcb3nhVR53


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_AFBcb3nhVR53


42. Which one of the compounds shown below, is not an isomer of the

others ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DFS8OdTAj3nf


43. Arrange the anions (p) , (q)  , (r)  , (s)  , in

decreasing order of their basic strength.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

¯̄̄C H3
¯̄̄N̄ H2 OH − F −

p > q > r > s

q > p > r > s

r > q > p > s

r > p > q > s

44. One among the following compounds will not give effervescence with

sodium carbonate:

A. 

B. 

C6H5CO2H

https://dl.doubtnut.com/l/_rcmLKkA9qhxo
https://dl.doubtnut.com/l/_rFBvoeqPRTpG


C. 

D. 

Answer: C

Watch Video Solution

C6H5OH

45. The carboxylic acid which has maximum solubility in water is:

A. phthalic acid

B. succinic acid

C. malonic acid

D. salicylic acid

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_rFBvoeqPRTpG
https://dl.doubtnut.com/l/_ABI2ymnWi5Lt


46. Among the following compounds, the most basic compound is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_W3ubwFks9mW2


47.  


Arrange the (C-H) bonds x, y and z in decreasing order of their bond

dissociation energies in homolysis.

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

y > x > z

z > x > y

z > y > x

y > z > x

https://dl.doubtnut.com/l/_W3ubwFks9mW2
https://dl.doubtnut.com/l/_V5xRZkipGQU2


48. 23 g of sodium will react with methyl alcohol to give :

A. one mole of oxygen

B.  of hydrogen gas at NTP

C. 1 mole of 

D. 11.2 L of hydrogen gas at NTP

Answer: D

Watch Video Solution

22.4dm3

H2

49. Which of the following is most polar?

A. 

https://dl.doubtnut.com/l/_fv1rYBOS360f
https://dl.doubtnut.com/l/_zu95UeJ7WCdq


B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_zu95UeJ7WCdq


50.  


The correct order of decreasing basic strengths of x,y and z is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x > y > z

x > z > y

y > x > z

y > z > x

51. Which of the following is the strongest Bronsted acid ?

https://dl.doubtnut.com/l/_InLVG2LmRSLG
https://dl.doubtnut.com/l/_SCoGVMljBB2Y


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_SCoGVMljBB2Y


52. Which of the following is the strongest Bronsted base ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_SCoGVMljBB2Y
https://dl.doubtnut.com/l/_JPiSUE7zmmG9


D. 

Answer: D

Watch Video Solution

53. Which of the following is polar aprotic solvent ?

A. DMSO

B. Crown ether:

C. DMG

D. All of these

Answer: D

https://dl.doubtnut.com/l/_JPiSUE7zmmG9
https://dl.doubtnut.com/l/_beDBkYNUTWJi


Watch Video Solution

54. Some pairs of acids are given below. Select the pair in which second

acid is stronger than first

A.  and 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CO2H CH2FCO2H

CH2FCO2H and CH2ClCO2H

CH2ClCO2H and CH2BrCO2H

CH3CH2CHFCO2H and CH3CHFCH2CO2H

55.  , 

Compare the bond lengths a and b:

A. a = b

H − C ≡ C a
−

C ≡ C b
−

CH3

https://dl.doubtnut.com/l/_beDBkYNUTWJi
https://dl.doubtnut.com/l/_fmozxIdKt9rD
https://dl.doubtnut.com/l/_jU04YW04gIIl


B. 

C. 

D. 

Answer: C

Watch Video Solution

a > b

b > a

a > > > b

56. Which (isomeric) amine has lowest boiling point ?

A.  amine

B.  amine

C.  amine

D. cannot predict

Answer: C

Watch Video Solution

1∘

2∘

3∘

https://dl.doubtnut.com/l/_jU04YW04gIIl
https://dl.doubtnut.com/l/_cKxgdny3uLlm
https://dl.doubtnut.com/l/_QLEkPV7oWoOX


57.  , P will be :

A. 

B. 

C. 

D. mixture of (a) and (b)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QLEkPV7oWoOX


58. Which of the following substances is not an isomer of 3-ethyl 2-methyl

pentane ?

A. A) 

B. B) 

C. C) 

D. D) all are isomers

Answer: B

Watch Video Solution

59. Which of the following is an isomer of compound 1 ? 

https://dl.doubtnut.com/l/_LVPgczAXi7ec
https://dl.doubtnut.com/l/_Zh6NdvPeAzFJ


 

A. A) 2

B. B) 4

C. C) 2 and 3

D. D) all are isomers

Answer: D

Watch Video Solution

CH3CH2CHO
( 1 )

 CH3 −

O

∣ ∣

C − CH3
( 2 )

  CH3 − CH = CH − OH
( 3 )

https://dl.doubtnut.com/l/_Zh6NdvPeAzFJ


60.  

Which statement is incorrect in respect of the above reaction ?

A. Product is aromatic

B. Product has high dipole moment

C. Product has less resonance energy

D. Product is soluble in polar solvent

Answer: C

Watch Video Solution

61. Some pairs of ions are given below. In which pair, first ion is more

stable than second?

https://dl.doubtnut.com/l/_vAasy9xqDiWb
https://dl.doubtnut.com/l/_oXk136dGsNf8


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 −
⊕

CH − CH3 and CH3 −
⊕

CH − OCH3

CH3 − CH2 −
⊕

CH − CH3 and CH2 = CH − CH2 −
⊕

CH2

CH3 − CH − CH3

             |

CH2 − C⊕ − CH3

and

CH3 − N − CH3

             |

CH3 − C ⊕ − CH3

62. Among the given pairs in which pair, first compound has higher

boiling point than second ?

A. 

B. 

C. 

CH3 − CH2OCH3 and CH3 − CH
∣

OH

− CH3

CH3 − CH2 − CH2 − CH3 and CH3 − CH2 − CH3

CH3 − CH2 − CH2 − CH2 − CH3 and CH3 −

CH2 − CH3

∣

CH − CH2 − O

https://dl.doubtnut.com/l/_oXk136dGsNf8
https://dl.doubtnut.com/l/_OGdzt6ZeAIDd


D. 

Answer: B

Watch Video Solution

CH3 − CH2 − CH2 − CH3 and CH3 − CH2 − CH2 − Cl

63. Which of the following alcohols is the least soluble in water ?

A. Ethanol

B. 1-Propanol

C. 1-Butanol

D. 1-Pentanol

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_OGdzt6ZeAIDd
https://dl.doubtnut.com/l/_tA38aOJEoStP


64. Which of the following alcohols is expected to have a lowest  value

?

A. Ethanol

B. 1-propanol

C. 2, 2, 2-trifluorethanol .

D. 2-chloroethanol

Answer: C

Watch Video Solution

pKa

65. Which of the following alkenes is the most stable ?

A. 

https://dl.doubtnut.com/l/_uS4nfJY5jffg
https://dl.doubtnut.com/l/_hrreAAv0AOOD


B. 

C. 

D. 

Answer: D

Watch Video Solution

66. Bond X is made by the overlap of which type of hybridized orbitals ? 

https://dl.doubtnut.com/l/_hrreAAv0AOOD
https://dl.doubtnut.com/l/_43JWgeglFcjk


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

sp and sp3

sp and sp2

sp2 and sp3

67. Increasing order of acidic strength of given compounds is : 

A. 

B. 

C. 

D. 

III < I < IV < II

II < I < IV < III

I < III < IV < II

I < III < II < IV

https://dl.doubtnut.com/l/_43JWgeglFcjk
https://dl.doubtnut.com/l/_Ao460tYFBKJe


Answer: A

Watch Video Solution

68.  is with the

product :

A. 

B. 

C. both

D. none of these

Answer: A

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_Ao460tYFBKJe
https://dl.doubtnut.com/l/_3ppo37pgkX2g


69. Rank in the order of increasing acidity. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

III < I < II

I < III < II

III < II < I

II < I < III

70. Which compound has the highest value of  ?

A. 

B. 

C. 

pka

Cl − CH2 − CH2 − COOH

CH3 − CH2 − COOH

CH3 − CH
∣

Cl

− COOH

https://dl.doubtnut.com/l/_VSSh7sBT3cY0
https://dl.doubtnut.com/l/_yYdfHncvAvYc


D. 

Answer: B

Watch Video Solution

CH3 −

Cl

∣

C
∣

Cl

− COOH

71. Consider the hydrogen atoms attached to three different carbon

atoms (labeled 1, 2 & 3). 

Rank the attached hydrogen atoms in order from most acidic to least

acidic. 

A. 

B. 

2 > 1 > 3

1 > 2 > 3

https://dl.doubtnut.com/l/_yYdfHncvAvYc
https://dl.doubtnut.com/l/_KLbtmp1OuDan


C. 

D. 

Answer: A

Watch Video Solution

2 > 3 > 1

3 > 2 > 1

72. Decreasing order of acidic strengths of following compounds is : 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x > y > z

y > x > z

z > y > x

z > x > y

https://dl.doubtnut.com/l/_KLbtmp1OuDan
https://dl.doubtnut.com/l/_Eyo8vZXSDzjL


73. Among the given pairs, in which pair second compound is more acidic

than first ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

BrCH2NO2 and CH3CH3

CH3 −

O

∣ ∣

CCH2CN and CH3 −

O

∣ ∣

C − CH3

74. Which of the underlined atoms in the molecules shown below have

sp-hybridization ? 

https://dl.doubtnut.com/l/_o86RSosXdRGp
https://dl.doubtnut.com/l/_1JO7QLfxaovB


(u)  (v)  (w)  (x)  

(y)  (z) 

A. A) x and z

B. B) x , y and z

C. C) u , w and x

D. D) v ,x and y

Answer: D

Watch Video Solution

C––H2CHCH3 CH2 C––CHCl CH3 C––H +
2 H − C ≡ C − H

CH3 C––N (CH3)2CN––NH2

75. Which of the following, is the product of the reaction between

 ?

A. 

B. 

AlCl3 and CH3OCH3

https://dl.doubtnut.com/l/_1JO7QLfxaovB
https://dl.doubtnut.com/l/_n4SgXWq4z9ZI


C. 

D. 

Answer: A

Watch Video Solution

76. Which of the following compounds contain at least one secondary

alcohol ? 

A. I, II , IV , VI

B. I , III

C. I , II , III ,V

D. I ,III , V

https://dl.doubtnut.com/l/_n4SgXWq4z9ZI
https://dl.doubtnut.com/l/_POI74FxxOUz6


Answer: D

Watch Video Solution

77. Which of the following has the most negative heat of hydrogenation ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_POI74FxxOUz6
https://dl.doubtnut.com/l/_wQuLcrd1Xvte


Answer: A

Watch Video Solution

78. Which of the following options is the correct order of relative

stabilities of cations I, II and III as written below (most stable first) ? 

(I)  (II) 

 (III) 

A. 

B. 

C. 

H2C = CH − CH2 −
+

CH − CH3 H3C −

CH3

∣

C
∣

CH3

−
+

CH2

I > II > III

II > III > I

III > I > II

https://dl.doubtnut.com/l/_wQuLcrd1Xvte
https://dl.doubtnut.com/l/_W6XOwULxopai


D. 

Answer: A

Watch Video Solution

I > III > II

79. What is the decreasing order of stability (most stable  least

stable) of the following carbocations ? 

A. A) 

B. B) 

C. C) 

D. D) 

Answer: B

Watch Video Solution

→

3 > 2 > 1 > 4 > 5

3 > 2 > 5 > 4 > 1

1 ≈ 4 > 2 ≈ 5 > 3

3 > 1 ≈ 4 > 2 ≈ 5

https://dl.doubtnut.com/l/_W6XOwULxopai
https://dl.doubtnut.com/l/_muMPzJysLJd3


80.  the

hydrogen indicated by arrow will be easily removed as :

A. 

B. 

C. 

D. 

Answer: A

H +

H Θ

H .

H − 2

https://dl.doubtnut.com/l/_muMPzJysLJd3
https://dl.doubtnut.com/l/_xEqZc1XBH1B9


Watch Video Solution

81. Rank the bond dissociation energies of the bonds indicated with the

arrows. (from smallest to largest). 

A. A) 

B. B) 

C. C)

D. D) 

Answer: D

Watch Video Solution

1 < 2 < 3

3 < 2 < 1

2 < 3 < 1

3 < 1 < 2

https://dl.doubtnut.com/l/_xEqZc1XBH1B9
https://dl.doubtnut.com/l/_JCT5wgH8qth8


82. Rank the following compounds in order of decreasing acid strength

(most acidic  least acidic). 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

→

2 > 4 > 1 > 3

1 > 3 > 4 > 2

3 > 1 > 2 > 4

3 > 1 > 4 > 2

83. Rank the following compounds in order of increasing acidity (weakest

acid first). 

https://dl.doubtnut.com/l/_dCupNDdDk2A1
https://dl.doubtnut.com/l/_63O7SHsQOhVG


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 < 3 < 1

3 < 1 < 2

1 < 2 < 3

2 < 1 < 3

84. Which of the following phenols has the largest pKa value (i.e., is least

acidic) ?

A. 

B. 

https://dl.doubtnut.com/l/_63O7SHsQOhVG
https://dl.doubtnut.com/l/_m2ylhZvr5dW6


C. 

D. 

Answer: C

Watch Video Solution

85. Among the given sets, which represents the resonating structures ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H − C ≡
+

N −
. .

O
. .

: − and H −
. .

O
. .

− C ≡ N :

H −
+

O
. .

= C
. .

N : − and H −
. .

O
. .

− C ≡ N :

H − C ≡
+

N −
. . −

O
. .

: and H −

:O :
∣ ∣

C −
. .

N :

H −
. .

O
. .

− C ≡ N : − and H −
. .

N = C =
. .

O :

https://dl.doubtnut.com/l/_m2ylhZvr5dW6
https://dl.doubtnut.com/l/_ljfMFiESL7eh
https://dl.doubtnut.com/l/_6VcEdopLCQIg


86. Identify each species in the following equilibrium according to the

code: 

SA = stronger acid , SB = stronger base , WA = weaker acid , WB = weaker

base. 

The  of  is 36, the  of  is 15.2. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

pKa (CH3)2NH pKa CH3OH

CH3OH
1

+ (CH3)2
2

NH ⇔ CH3 − O − + CH3 −
+

NH
∣

H

− CH3

1 2

WA WB

1 2

WB WA

1 2

SA SB

1 2

SB SA

87. The hydrogen bonding is strongest in which one of the following set ?

https://dl.doubtnut.com/l/_6VcEdopLCQIg
https://dl.doubtnut.com/l/_81ncD7hT9NtL


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F − H − − − F

O − H − − − S

S − H − − − F

F − H − − − O

88. Intermolecular hydrogen bonding is strongest in :

A. methylamine

B. phenol

C. formaldehyde

D. methanol

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_81ncD7hT9NtL
https://dl.doubtnut.com/l/_POZRkyAhj7hE


89.  


Identify most acidic hydrogen in given compound.

A. a

B. b

C. c

D. d

Answer: A

Watch Video Solution

90. Which of the following compounds would you expect to be strongest

carbon acid ?

https://dl.doubtnut.com/l/_POZRkyAhj7hE
https://dl.doubtnut.com/l/_6pX4GDYe483z
https://dl.doubtnut.com/l/_GRYcgThUHjjS


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH2(CO2Et)2

CH3COCH2COOC2H5

91. 5-Bromo-2-cyclopropyl cyclohex-2-enol have correct structure is:

A. 

B. 

https://dl.doubtnut.com/l/_GRYcgThUHjjS
https://dl.doubtnut.com/l/_akhDjkAFXgMt


C. 

D. 

Answer: B

Watch Video Solution

92. Rearrange the following in the increasing order of acidic strength. 

(i) benzoic acid (ii) p-methoxybenzoic acid (iii) o -methyoxybenzoic acid

A. 

B. 

C. 

D. 

i < ii < iii

iii < i < ii

ii < i < iii

iii < ii < i

https://dl.doubtnut.com/l/_akhDjkAFXgMt
https://dl.doubtnut.com/l/_EJlTNUuNXxt3


Answer: C

Watch Video Solution

93. In the following acid-base reaction, in which can backward reaction if

favoured?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

KH + EtOH ⇔

94. Which compound posses highest dipole moment ?

https://dl.doubtnut.com/l/_EJlTNUuNXxt3
https://dl.doubtnut.com/l/_nsDdGw6dN2JN
https://dl.doubtnut.com/l/_WHccGT3MVTfi


A. naphthalene

B. phenanthrene

C. anthracene

D. azulene

Answer: D

Watch Video Solution

95.  


(E = activation energy) 

Relation between activation energies of above reactions is :

A. 

B. 

C. 

D. 

E2 > E1 > E3

E3 > E1 > E2

E3 > E2 > E1

E1 > E2 > E3

https://dl.doubtnut.com/l/_WHccGT3MVTfi
https://dl.doubtnut.com/l/_1mK50IeJhoSt


Answer: D

Watch Video Solution

96. Rank the following solvents in decreasing order of ability to dissolve

given compound. 

A. 

B. 

C. 

D. 

Answer: D

h id l i

Et2O > H2O > EtOH

H2O > EtOH > Et2O

H2O > Et2O > EtOH

Et2O > EtOH > H2O

https://dl.doubtnut.com/l/_1mK50IeJhoSt
https://dl.doubtnut.com/l/_e3ZrSVCqg1OJ


Watch Video Solution

97.  


Its basic strength is  more than 1-dimethyl amino naphthalene.

Reason for high basic strength is :

A. resonance

B. steric inhibitation of resonance

C. ortho effect

D. hyperconjugation

Answer:

Watch Video Solution

1010

https://dl.doubtnut.com/l/_e3ZrSVCqg1OJ
https://dl.doubtnut.com/l/_6AmDDbJZUzpE


98. In the given pair of compounds, in which pair second compound has

higher boiling point than first compound ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HO − CH2 − CH2 − OH and CH3 − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_6AmDDbJZUzpE
https://dl.doubtnut.com/l/_iUCScN4WaVJb


99.  Dipole

moments of given compound will be :

A. (A) = 6.87D, (B) = 4.11D

B. (A) = 4.11 D, (B) = 6.87 D

C. (A) = 4.11 D, (B) = 4.11 D

D. (A) = 6.87 D, (B) = 6.87 D

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_P5ivplFuihNu


100. Order of decreasing basic strengths of halides is :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

F − > Cl− > I − > Br −

F − > Cl− > Br − > I −

I − > Br − > CI − > F −

I − > Cl− > Br − > F −

101. Among the xylenes, which is thermodynamically most stable ?

A. 

B. 

https://dl.doubtnut.com/l/_q8O74oFdRGh2
https://dl.doubtnut.com/l/_9OtfcIKaE3bw


C. 

D. All are equally stable

Answer:

Watch Video Solution

102. Heat of combustion of two isomer x and y are 17 kJ/mol and 12 kJ/mol

respectively. From this information it may be concluded that :

A. isomer x is 5 kJ/mol more stable

B. isomer y is 5 kJ/mol less stable

C. isomer y has 5 kJ/mol more potential energy

D. isomer x is 5 kJ/mol less stable

Answer: D

https://dl.doubtnut.com/l/_9OtfcIKaE3bw
https://dl.doubtnut.com/l/_TAqpeSMlJc5W


Watch Video Solution

103. Rank the following substances in decreasing order of heat of

combustion (most exothermic  least exothermic) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→

B > A > C

A > B > C

C > A > B

C > B > A

https://dl.doubtnut.com/l/_TAqpeSMlJc5W
https://dl.doubtnut.com/l/_yTnmNvfKR8LW


104.  


Choose the statement that best describes given compounds.

A. 1, 3, 4 represent same compound

B. 1 and 3 are isomer of 2 and 4

C. 1,4 are isomer of 2 and 3

D. All the structure represent the same compound

Answer: A

Watch Video Solution

105. Decreasing order of acid strengths is : 

A. 

Ph − OH
( A )

,   Ph − CH2 − OH
( B )

,   Ph − CO2H
( C )

,   Ph − CH2 −
⊕

NH3
( D )

,

B > A > C > D

https://dl.doubtnut.com/l/_EsWJ33t798uh
https://dl.doubtnut.com/l/_7L1RpfV8kX9A


B. 

C. 

D. 

Answer: C

Watch Video Solution

C > A > B > D

C > A > D > B

C > B > A > D

106. Rank the following in decreasing order of basic strength is : 

(A)  (B)  

(C)  (D) 

A. 

B. 

C. 

D. 

Answer: C

CH3 − CH2 − C ≡ C − CH3 − CH2 − S −

CH3 − CH2 − CO −
2 CH3 − CH2 − O −

B > A > D > C

D > A > B > C

A > D > B > C

A > D > C > B

https://dl.doubtnut.com/l/_7L1RpfV8kX9A
https://dl.doubtnut.com/l/_6UyAMSrmDNtJ


Watch Video Solution

107. Among the given compound choose the two that yield same

carbocation on ionization. 

A. A,C

B. B,D

C. A,B

D. B,C

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_6UyAMSrmDNtJ
https://dl.doubtnut.com/l/_HAVQEqzaXDxt


108.  


where  are first ionization constants. Correct order is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Oxalic acid pK1

Malonic acid pK2

Heptanedioic acid pK3

pK1, pK2, pK3

pK1 > pK2 > pK3

pK1 < pK2 < pK3

pK3 > pK2 = pKq

pK3 > pK1 > pK2

109. In sets a - d, only one of the set is incorrect regarding basic strength.

Select it :

A. 

https://dl.doubtnut.com/l/_9Og8knjxVHPn
https://dl.doubtnut.com/l/_JuPsI84AFp4U


B. 

C. 

D. 

Answer: C

Watch Video Solution

110. Dipole moment of which ketone is maximum ?

A. 

https://dl.doubtnut.com/l/_JuPsI84AFp4U
https://dl.doubtnut.com/l/_u2lRgzNtM7uP


B. 

C. 

D. 

Answer: C

Watch Video Solution

111. Correct order of basic strengths of given amines is :

A.  (Protic solvent)Me2NH
2 ∘

> MeNH2
1 ∘

> Me3N
3 ∘

> NH3

https://dl.doubtnut.com/l/_u2lRgzNtM7uP
https://dl.doubtnut.com/l/_mr1v3RPKQ9jm


B.  (Protic solvent)

C.  (Gas phase)

D. All are correct

Answer: D

Watch Video Solution

Et2NH
2 ∘

> Et3H
3 ∘

> EtNH2
1 ∘

> NH3

Me3N > Me2NH > Me − NH2 > NH3

112. Order of basic strength

 Ph − NH2
( A )

, Ph − NH
( B )

− Me, Ph − N − Me
∣

Me
( C )

https://dl.doubtnut.com/l/_mr1v3RPKQ9jm
https://dl.doubtnut.com/l/_2Wt5h7MEfruh


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A > B > C > D

B > A > C > D

C > B > A > D

C > B > D > A

https://dl.doubtnut.com/l/_2Wt5h7MEfruh
https://dl.doubtnut.com/l/_b0ehRraKRDYO


113. Carbon-carbon double bond length will be maximum in which of the

following compounds ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − CH = CH2

CH3 − CH = CH − CH3

CH3 − C
∣

CH3

= C
∣

CH3

− CH3

CH2 = CH2

114. Which has maximum dipole moment ?

A. 

https://dl.doubtnut.com/l/_b0ehRraKRDYO
https://dl.doubtnut.com/l/_txCJGMKt58SS


B. 

C. 

D. 

Answer: C

Watch Video Solution

115. (i)   


Compare the basic strengths of compounds given:

Et3N

https://dl.doubtnut.com/l/_txCJGMKt58SS
https://dl.doubtnut.com/l/_6BNKaROdzelI


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(i) > (ii) > (iii)

(ii) > (i) > (iii)

(ii) > (ii) > (i)

(iii) > (ii) > (i)

116. For the following two reactions, which statement is true ? 

A. Reaction A is faster and less exergonic than B

B. Reaction B is faster and more exergonic than A

C. Reaction A is faster and less endergonic than B

https://dl.doubtnut.com/l/_6BNKaROdzelI
https://dl.doubtnut.com/l/_M4DmgxYvaLfz


D. Reaction B is faster and more endergonic than A

Answer: A

Watch Video Solution

117.  

Identify the site, where attack of  is most favourable.

A. a

B. b

C. c

D. d

H +

https://dl.doubtnut.com/l/_M4DmgxYvaLfz
https://dl.doubtnut.com/l/_M6GsfqBwox1z


Answer: A

Watch Video Solution

118. Rank the following alkenes on order of increasing  

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

λmax

1 < 2 < 3

1 < 3 < 2

2 < 1 < 3

2 < 3 < 1

119. Which of the following cyclic amine has lowest  for inversion ?ΔG∗

https://dl.doubtnut.com/l/_M6GsfqBwox1z
https://dl.doubtnut.com/l/_tCcBPz1POJlD
https://dl.doubtnut.com/l/_4HE6cSIF9K2N


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

120. Rank in the order of increasing acidic strength: 

A. A < B < C

https://dl.doubtnut.com/l/_4HE6cSIF9K2N
https://dl.doubtnut.com/l/_Ya2LoXXuTL9K


B. 

C. 

D. 

Answer: C

Watch Video Solution

A < C < B

B < A < C

B < C < A

121. Which one of the following dienes would you expect to be the most

stable ?

A. 

B. 

https://dl.doubtnut.com/l/_Ya2LoXXuTL9K
https://dl.doubtnut.com/l/_gDceoDowbTzH


C. 

D. 

Answer: C

Watch Video Solution

122. Which metal catalyzed reaction would release the maximum amount

of heat per  unit ?

A. cyclopropane  propane

B. cyclobutane  butane

C. cyclopentane  pentane

D. cyclohexane  hexane

CH2

+H2 →

+H2 →

+H2 →

+H2 →

https://dl.doubtnut.com/l/_gDceoDowbTzH
https://dl.doubtnut.com/l/_TGrp4swgBtWc


Answer: A

Watch Video Solution

123.  


Compare basic strengths of the above compounds:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A > B > C

B > A > C

C > A > B

C > B > A

https://dl.doubtnut.com/l/_TGrp4swgBtWc
https://dl.doubtnut.com/l/_fFPWKu7jb3Tm


124. On reaction with acid, 4-pyrone gives a very stable cationic product.

Which of the following structures shows the protonation site in that

product ? 

A. 

B. 

https://dl.doubtnut.com/l/_vTBaUH1BNdyk


C. 

D. 

Answer: C

Watch Video Solution

125. Which of the following is the most stabilized carbocation ?

https://dl.doubtnut.com/l/_vTBaUH1BNdyk
https://dl.doubtnut.com/l/_RZGEDMjIzJUA


A. A) 

B. B) 

C. C) 

D. D) 

Answer: D

Watch Video Solution

126. Which carbocation is the most stable ?

A. A) 

https://dl.doubtnut.com/l/_RZGEDMjIzJUA
https://dl.doubtnut.com/l/_zVknfRJ9YjSm


B. B) 

C. C) 

D. D) 

Answer: B

Watch Video Solution

127. Consider a positively charged  species in which the positively

charged carbon is sp - hybridized, the uncharged carbon is  -

hybridized and an empty p-orbital is perpendicular to the i system. What

it the best description of this cation ?

A. vinyl

B. allenyl

C. alkyl

D. allyl

C2H3

sp2

https://dl.doubtnut.com/l/_zVknfRJ9YjSm
https://dl.doubtnut.com/l/_Y5OXWLo0qmIi


Answer: A

Watch Video Solution

128. Which of the following reactions is not exothermic ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3 − Cl + CH3– CH2 → CH4 + CH3– CH2 − Cl

CH3 − Cl + (CH3)3C − H → CH4 + (CH3)3– C − Cl

CH3 − Cl + CH2 = CH − CH3 → CH4 + CH2 = CH − CH2 − C

CH3 − Cl + CH2 = CH2 → CH4 + CH2 = CHCl

129. List the following carbocations in order of decreasing stabilization

energies. 

https://dl.doubtnut.com/l/_Y5OXWLo0qmIi
https://dl.doubtnut.com/l/_VNhpIzSP2dkg
https://dl.doubtnut.com/l/_wmp77vC3hdAC


A. II, III, I, IV

B. III, IV, II, I

C. III, IV, I, II

D. I, II, IV, III

Answer: B

Watch Video Solution

130. For the following two acid-base reactions, which statement is true ? 

(I)  

(II) 

A. I is favoured to the right, II is favoured to the left

B. I is favoured to the left, II is favoured to the right

C. I is favoured to the right, II is favoured to the right

CH3CH −
2

+ CH3NH2
pKa = 35

⇔ CH3CH3
pKa = 50

+ CH3NH −

F − + H2O
pKa = 15.7

⇔ HF
pKa = 3.2

+ HO −

https://dl.doubtnut.com/l/_wmp77vC3hdAC
https://dl.doubtnut.com/l/_AnWx1QxItn6T


D. I is favoured to the left, II is favoured to the left

Answer: A

Watch Video Solution

131. Rank the hydrogen atoms  in the following molecules

according to their acidic strengths 

A. 

B. 

C. 

(Ha, Hb, Hc)

a > b > c

b > a > c

b > c > a

https://dl.doubtnut.com/l/_AnWx1QxItn6T
https://dl.doubtnut.com/l/_IudVgU0Ou3jh


D. 

Answer: C

Watch Video Solution

a > c > b

132. In which of the following reactions, backward reaction is favoured ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

H − C ≡ H + Li +− CH2CH3 ⇔ H − C ≡ C, Θ Li + + H3C − CH

CH3CH2

+

SH2 + CH3CH2OH ⇔ CH3CH2SH + CH3CH2

⊕

O
∣

H

− H

https://dl.doubtnut.com/l/_IudVgU0Ou3jh
https://dl.doubtnut.com/l/_MIeTrPisPMKz


133. Which carbocation is the most stabilized ?

A. A) 

B. B) 

C. C) 

D. D) 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Dtzsq0HtFlrK


134. Taking into account of hybridization and resonance effects, rank the

following bonds in order of decreasing bond length. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I > II = III

II > III > I

I > III > II

II = III = I

https://dl.doubtnut.com/l/_RfcqdSWkxv5k
https://dl.doubtnut.com/l/_3ZTuf0iHw0r8


135. Which one among the following carbocations has the longest half-life

?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 −
+

C
∣

CH3

− CH3

136. Rank the following alkenes in order of decreasing heats of

hydrogenation (largest first) 

https://dl.doubtnut.com/l/_3ZTuf0iHw0r8
https://dl.doubtnut.com/l/_ZnA4ZZzZY3SE


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 > 3 > 4 > 1

2 > 4 > 3 > 1

1 > 3 > 4 > 2

1 > 4 > 3 > 2

137. Which of the following reactions is most exothermic ?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_ZnA4ZZzZY3SE
https://dl.doubtnut.com/l/_lw0O4hZRtsOK


Answer: C

Watch Video Solution

138. Which energy diagram best represents the given reaction ? 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_lw0O4hZRtsOK
https://dl.doubtnut.com/l/_xSdeUhSokm5v


D. 

Answer: D

Watch Video Solution

139. Which one of the following is most stable ?

A. 

B. 

https://dl.doubtnut.com/l/_xSdeUhSokm5v
https://dl.doubtnut.com/l/_QFto3jonvBNO


C. 

D. 

Answer: C

Watch Video Solution

140. Which of the following is strongest acid ?

A. 

B. 

H −

H

∣

N +

∣

H

− H

https://dl.doubtnut.com/l/_QFto3jonvBNO
https://dl.doubtnut.com/l/_uGxzPwvbi4R6


C. 

D. 

Answer: C

Watch Video Solution

141. Compare relative stability of the following resonating structure. 

A. 

B. 

(i) > (ii) > (iii)

(ii) > (i) > (iii)

https://dl.doubtnut.com/l/_uGxzPwvbi4R6
https://dl.doubtnut.com/l/_O0PqFZ6JQlek


C. 

D. 

Answer: A

Watch Video Solution

(i) > (iii) > (ii)

(ii) > (iii) > (i)

142. Compare relative stability of the following resonating structure. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

p > q > r

q > p > r

q > r > p

p > r > q

https://dl.doubtnut.com/l/_O0PqFZ6JQlek
https://dl.doubtnut.com/l/_vHL1WBDi9gon


143. Which of the following isomeric hydrocarbons is most acidic ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_vHL1WBDi9gon
https://dl.doubtnut.com/l/_CtPDawHBSb7G


144. Which of the following has the lowest barrier to rotation about the

indicated bond ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Eptiwr3kwPhH
https://dl.doubtnut.com/l/_3vWsjpQVqhJr


145. Use the following data to answer the question below. 

 


Calculate the resonance energy of anthracene:

A. A) 84 kcal/mol

B. B) 100 kcal/mol

C. C) 110 kcal/mol

D. D) 116 kcal/mol

Answer: A

Watch Video Solution

146. How many double bond equivalents does a compound of molecular

formula  possess?

A. A) 0

C6H12O6

https://dl.doubtnut.com/l/_3vWsjpQVqhJr
https://dl.doubtnut.com/l/_nvUpi6tgWdIo


B. B) 1

C. C) 2

D. D) 3

Answer: B

Watch Video Solution

147. How many double bond equivalents does amoxycillin (shown below)

possess ? 

A. A) 5

B. B) 6

C. C) 7

https://dl.doubtnut.com/l/_nvUpi6tgWdIo
https://dl.doubtnut.com/l/_M2bEJegNyXXa


D. D) 9

Answer: D

Watch Video Solution

148. What is the oxidation state of osmium in 7B and 7C, respectively? 

A. A) 6,8

B. B) 8,6

C. C) 6,6

D. D) 8,8

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_M2bEJegNyXXa
https://dl.doubtnut.com/l/_mepB1IwvRFtn
https://dl.doubtnut.com/l/_M4cfxrxrcFKM


149.  


Identify most acidic hydrogen present in the above compound:

A. a

B. b

C. c

D. d

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_M4cfxrxrcFKM


150. Which of the following compounds has most acidic hydrogen ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

151. Acetic acid, , has a pKa, of 4.8. Ethanol ,

has a  of 16.0. What are the major species present, when acetic acid

and ethanol are added to water and the pH is adjusted to 7.0 ?

(CH3COOH) (CH3CH2OH)

pKa

https://dl.doubtnut.com/l/_8p8Qoc0o2eD7
https://dl.doubtnut.com/l/_jP3dasT3TWgh


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CO2H and CH3CO2OH

CH3CH2O − and CH3CO2OH

CH3CO2H and CH3CH2O −

CH3CO −
2 and CH3CH2OH

https://dl.doubtnut.com/l/_jP3dasT3TWgh


152.  


The most stable canonical structure of given molecule is:

https://dl.doubtnut.com/l/_8qKyLBYBf1NO


A. 

B. 

C. 

https://dl.doubtnut.com/l/_8qKyLBYBf1NO


D. 

Answer: B

Watch Video Solution

153. In the potential energy diagram to the right, the point X represents : 

A. A) a transition state

https://dl.doubtnut.com/l/_8qKyLBYBf1NO
https://dl.doubtnut.com/l/_7ezUngOQNB08


B. B) a reaction intermediate

C. C) a resonance hybrid

D. D) a reactant

Answer: A

Watch Video Solution

154.  


Which of the following orders is correct for heat of hydrogenation of

these compounds ?

A. A) 

B. B) 

C. C) 

D. D) 

I > III > II

III > II > I

III > I > II

II > I > III

https://dl.doubtnut.com/l/_7ezUngOQNB08
https://dl.doubtnut.com/l/_nX8KSkI31NUp


Answer: A

Watch Video Solution

155.  

Which of the following orders is correct for heat of hydrogenation of

these compounds ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I > II > III

III > II > I

II > III > I

III > I > II

https://dl.doubtnut.com/l/_nX8KSkI31NUp
https://dl.doubtnut.com/l/_qm4zrY9CJlxN
https://dl.doubtnut.com/l/_wZSDO0HMfsi1


156.  

Which of these structures is practically not a valid canonical structure for

formaldehyde ?

A. A) I

B. B) II

C. C) III

D. D) None of these

Answer: C

Watch Video Solution

CH2
( I )

= O ↔ ⊕ CH2
( II )

− O Θ ↔ Θ CH2
( III )

− O ⊕

157. 

 

Which of these structures is not a valid canonical structure ?

CH2 = CH − CH = CH − ⊕ NH3
( I )

,     ⊕ CH2 − CH = CH −Θ CH −⊕

⊕ CH2 − CH = CH − CH = NH3
( III )

https://dl.doubtnut.com/l/_wZSDO0HMfsi1
https://dl.doubtnut.com/l/_PQYrXvLb8Rlp


A. A) I

B. B) II

C. C) III

D. D) none of these

Answer: C

Watch Video Solution

158.  


The correct order of stability for the given canonical structures is :

A. A) 

B. B) 

C. C) 

D. D) 

I > III > II

III > I > II

II > III > I

II > I > III

https://dl.doubtnut.com/l/_PQYrXvLb8Rlp
https://dl.doubtnut.com/l/_tZmxwGdqhUg2


Answer: B

Watch Video Solution

159.  

The most stable canonical structure among the given structure is :

A. I

B. II

C. III

D. all are equally stable

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tZmxwGdqhUg2
https://dl.doubtnut.com/l/_o0avJy0revc0
https://dl.doubtnut.com/l/_katY7w58lm9D


160.  


For the given compounds the correct order of resonance energy is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

III > I > II

II > I > III

I > II > III

III > II > I

161.  


The correct stability order of the given canonical structures is :

A. A)

B. B) 

I > II > III

III > I > II

https://dl.doubtnut.com/l/_katY7w58lm9D
https://dl.doubtnut.com/l/_OO6oIcv1AUiw


C. C) 

D. D) 

Answer: B

Watch Video Solution

I > III > II

II > III > I

https://dl.doubtnut.com/l/_OO6oIcv1AUiw


162.  


In the above compound, how many sites are available for the attack of

 ?

A. 1

B. 2

CH3O −

https://dl.doubtnut.com/l/_C74ZRGKTkWF6


C. 3

D. 4

Answer: C

Watch Video Solution

163.  


Which of the following orders of rotation barrier about the C = C bond, as

indicated, is correct?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I > II > III

III > II > I

III > I > II

II > I > III

https://dl.doubtnut.com/l/_C74ZRGKTkWF6
https://dl.doubtnut.com/l/_GsZHpRzjIrUJ


164.  

Which of the following orders of rotation barrier about the C=C bond, as

indicated, is correct?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I > II > III

III > II > I

III > I > II

II > I > III

165. Which of the following compound is not resonance stabilized ?

https://dl.doubtnut.com/l/_GsZHpRzjIrUJ
https://dl.doubtnut.com/l/_dtWK4SOSMnDb
https://dl.doubtnut.com/l/_ogP6Wh2HZzu9


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

166. Homologous compound have same:

A. General formula

https://dl.doubtnut.com/l/_ogP6Wh2HZzu9
https://dl.doubtnut.com/l/_xZhJEj7uDRBf


B. Emperical formula

C. Structural formula

D. Molecular formula

Answer: A

Watch Video Solution

167. Most acidic is:

A. 

B. 

https://dl.doubtnut.com/l/_xZhJEj7uDRBf
https://dl.doubtnut.com/l/_ebNADlC4YCan


C. 

D. 

Answer: D

Watch Video Solution

168. Which of the following substituents will decrease the acidic strength

of phenol?

A. 

B. 

−NO2

−CN

https://dl.doubtnut.com/l/_ebNADlC4YCan
https://dl.doubtnut.com/l/_UrQuxusgMSQM


C. 

D. 

Answer: C

Watch Video Solution

−CH3

−CHO

169. Which of the following structures possesses a cross-conjugated

system?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH2 = CH– CH = CH– CH2

CH2 = CH − C
∣

CH2CH3

= CH2

CH2 = CH − CH − CH = CH2
∣

CH = CH2

CH2 = CH − C = CH2
           ∣

                     CH = CH2

https://dl.doubtnut.com/l/_UrQuxusgMSQM
https://dl.doubtnut.com/l/_sYKZzi2HnoiD


170. Examine the following resonating structures of formic acid for their

individual stability and then answer the question given below. 

Which of the following arrangements gives the correct order of

decreasing stability of the above-mentioned resonance contributors?

A. A) 

B. B) 

C. C) 

D. D) 

Answer: B

Watch Video Solution

H −

O

∣ ∣

C − OH
I   

↔ H −

O−

∣

C
II

=
−

O − H ↔ H −

O−

∣

C +

III
− OH ↔ H −

O+

∣

C −

IV
− OH

II > I > III > IV

I > II > III > IV

IV > III > I > II

IV > III > I > II

171. Which of the following is not resonating structure of each other?

A. CH3 − N = C = S and CH3 − S − C ≡ N

https://dl.doubtnut.com/l/_xp49bJIOGsuH
https://dl.doubtnut.com/l/_b2UhD1Kbzvgk


B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 −
+

C = O and CH3 − C ≡
+

O

CH3 −

O

∣ ∣

C − OH and CH3 −

O−

∣

C =
+

O − H

CH2 = CH − C ≡ N and
+

CH2 − CH = C = N −

172. In the molecule , the maximum number of

carbon atoms arranged linearly is

A. 2

B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

CH3C ≡ C-CH = CH2

https://dl.doubtnut.com/l/_b2UhD1Kbzvgk
https://dl.doubtnut.com/l/_N0pMNHjrohg2


173. The stability order of the following carbocations is: 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

II > IV > III > I

IV > II > III > I

II > III > I > IV

I > III > II > IV

https://dl.doubtnut.com/l/_N0pMNHjrohg2
https://dl.doubtnut.com/l/_ioHXZ5Z0kvoc


174. Total number of oc-hydrogen in given compound is: 

A. A) 4

B. B) 5

C. C) 6

D. D) 7

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_W44f8qqjQNvH


175. In which pair second ion is more stable than first? 

A. A) (i) and (ii)

B. B) (ii) and (iii)

C. C) (ii) and (iv)

D. D) (iii) and (iv)

Answer: B

Watch Video Solution

176. Which one is the most stable cation in the following ?

A. 

https://dl.doubtnut.com/l/_lPGEuIufhfNn
https://dl.doubtnut.com/l/_wJ85vOLvEXjN


B. 

C. 

D. 

Answer: B

Watch Video Solution

177. The most reactive amine towards dilute hydrochloric acid is ______

https://dl.doubtnut.com/l/_wJ85vOLvEXjN
https://dl.doubtnut.com/l/_b3xKRefUEQIy


A. A) 

B. B) 

C. C) 

D. D) 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_b3xKRefUEQIy
https://dl.doubtnut.com/l/_Bd8lNx1728ki


178. How many resortance structures are there for anthracene 

A. A) 6

B. B) 5

C. C) 4

D. D) 2

Answer: C

Watch Video Solution

179. Which base is strong enough to convert  into 

CONain a reaction that goes to completion ?

(CH3)3COH (CH3)3

https://dl.doubtnut.com/l/_Bd8lNx1728ki
https://dl.doubtnut.com/l/_eNlGnySIN9ru


A. A) 

B. B) 

C. C) NaOH

D. D) More than one of the above

Answer: D

Watch Video Solution

NaNH2

CH3CH2Na

180. Based upon an understanding of product stability, predict the

product formed when the following dianion reacts with one equivalent of

acid 

A. 

https://dl.doubtnut.com/l/_eNlGnySIN9ru
https://dl.doubtnut.com/l/_RyOGX9H8Ep4e


B. 

C. 

D. 

Answer: D

Watch Video Solution

181. Rank the following alkyl radicals in order of increasing stability (least

<< < most). 

A. A) 4 < 2 < 1 < 3

https://dl.doubtnut.com/l/_RyOGX9H8Ep4e
https://dl.doubtnut.com/l/_sUwC2dKmOfdW


B. B) 

C. C) 

D. D) 

Answer: C

Watch Video Solution

3 < 1 < 2 < 4

1 < 3 < 4 < 2

2 < 4 < 3 < 1

182. Among the given cations, the most stable carbonium ion is?

A. A) sec-butyl

B. C) tert-butyl

C. C) n-butyl

D. D) None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_sUwC2dKmOfdW
https://dl.doubtnut.com/l/_tCrwhh7ZdYkY
https://dl.doubtnut.com/l/_ds9Dhfb2B983


183. Cyclohexadiene contains ___vinylic and ____ allylic hydrogen atoms ? 

A. A) 2 and 2 respectively

B. B) 4 and 4 respectively

C. C) 2 and 4 respectively

D. D) 4 and 2 respectively

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ds9Dhfb2B983


184. The dipole moments of halo compounds are in the order

A. 

B. 

C.  CCl

D. 

Answer: C

Watch Video Solution

CHCl3 > CCl4 > CHCl2 > cis − CHCI = CHCI

cis > CHCl = CHCl > CHCl3 > CH2Cl > CCl4

cis−CHCI = CHCI > CH2Cl2 > CHCl3 >

CHCl3 > CHCl2 >  cis − CHCl = CHCl > CCl4

185. The pka value in  of picric acid, acetic acid and phenol are in the

order :

A. A) Picric acid 0.4, acetic acid 4.75, phenol 10.0

B. B) Acetic acid 0.4, picric acid 4.75, phenol 10.0

C. C) Picric acid 0.4 phenol 4.75, acetic acid 10.0

D. D) Phenol 0.4, acetic acid 4.75 picric acid 10.0

H2O

https://dl.doubtnut.com/l/_5AUSXXmBjOWu
https://dl.doubtnut.com/l/_Y425FOoDRFZ4


Answer: A

Watch Video Solution

186. The preferred sites of protonation in the following compounds are: 

A. 1 and 3

B. 2 and 4

C. 1 and 4

D. 2 and 3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Y425FOoDRFZ4
https://dl.doubtnut.com/l/_BXeXuO0bVKfk
https://dl.doubtnut.com/l/_SHTHXVebtLzC


187. Among i-iii 

 


the boiling point follows the order

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(ii) < (i) < (iii)

(iii) < (ii) < (i)

(i) < (ii) < (iii)

(ii) < (iii) < (i)

https://dl.doubtnut.com/l/_SHTHXVebtLzC


188. The number of C-Csigma bonds in the compound 

A. 16

B. 14

C. 18

D. 11

Answer: B

Watch Video Solution

189. The correct order of dipole moment for the following molecules is 

https://dl.doubtnut.com/l/_95eYicCaMtCP
https://dl.doubtnut.com/l/_SPxEqtr1xPub


A. A) 

B. B) 

C. C) 

D. D) 

Answer: B

Watch Video Solution

IV > I > III > II

I > IV > III > II

III > I > II > IV

II > III > IV > I

190. Curved arrows are used in Organic Chemistry to show the movement

of electrons in the mechanism of a reaction. The correct product of the

following reaction is 

https://dl.doubtnut.com/l/_SPxEqtr1xPub
https://dl.doubtnut.com/l/_E0qWyQAoDx93


A. A) 

B. B) 

C. C) 

D. D) 

Answer: C

Watch Video Solution

191. Which of the following will form carbocation most readily ?

A. A) 

https://dl.doubtnut.com/l/_E0qWyQAoDx93
https://dl.doubtnut.com/l/_LYK2Pj56CVuu


B. B) 

C. C) 

D. D) 

Answer: C

Watch Video Solution

192. Observed heat of hydrogenation for cyclohexa-1,4-diene and cyclo

hexa-1,3-diene is x & y kcal/mol respectively, calculate the resonance

energy of cyclohexa-1,3-diene :

A. A) 

B. B) 

C. C) 

− y
3x

2

− y
2x

2

− y
3y

2

https://dl.doubtnut.com/l/_LYK2Pj56CVuu
https://dl.doubtnut.com/l/_SzX0Ae4N3Agq


Level 2

D. D) 

Answer: B

Watch Video Solution

− x
2y

2

1. Rank in order of radical stability (1 = most stable). 

Watch Video Solution

2. Predict the acidity order for the three phenols shown below : 

Acidity order : 1 (most) to 3 (least) 

https://dl.doubtnut.com/l/_SzX0Ae4N3Agq
https://dl.doubtnut.com/l/_L8xUtNqkFMb4
https://dl.doubtnut.com/l/_nx0bOPT1PmLM


 

Acidity order: ……….. ……….. ………….

Watch Video Solution

3. 


Which of the phenol derivatives above is the strongest acid ? 

 Compound A  Compound B  Compound C 


 Compound D  Compound E  Compound F

Watch Video Solution

□   □   □

□   □   □

https://dl.doubtnut.com/l/_nx0bOPT1PmLM
https://dl.doubtnut.com/l/_ets3CX3rT9bW


4.  


Which of the phenol derivatives above is the weakest acid ? 

 Compound A  Compound B  Compound C 

 Compound D  Compound E  Compound F

Watch Video Solution

□   □   □

□   □   □

5.  


Which of the mono-nitrophenol derivatives above is the strongest acid ? 

 Compound A  Compound D

W t h Vid S l ti

□   □

https://dl.doubtnut.com/l/_fQARVeT9SGBr
https://dl.doubtnut.com/l/_aOWLCVO5P4H7


Watch Video Solution

6.  


Which of the carbon-substituted phenol derivatives above is the

strongest acid ? 

 Compound C  Compound F

Watch Video Solution

□   □

7. The following questions refer to the twelve compounds given below.

You may enter as many as six choices in each answer box. 

https://dl.doubtnut.com/l/_aOWLCVO5P4H7
https://dl.doubtnut.com/l/_PWteUPVJ74Uc
https://dl.doubtnut.com/l/_6vmtUVfj0dNn


 


Which compound may serve only as H-bond acceptors?

Watch Video Solution

8. The following questions refer to the twelve compounds given below.

You may enter as many as six choices in each answer box. 

 


Which may serve both as H-bond donors and acceptors?

Watch Video Solution

https://dl.doubtnut.com/l/_6vmtUVfj0dNn
https://dl.doubtnut.com/l/_yTOgWUdhDjQC


9. The following questions refer to the twelve compounds given below.

You may enter as many as six choices in each answer box. 

 


Which compounds will not participate in H-bonding ?

Watch Video Solution

10. Consider the following compounds and answer A and B. 

 


Which of the compounds is the strongest Bronsted acid ?

A. I

https://dl.doubtnut.com/l/_yTOgWUdhDjQC
https://dl.doubtnut.com/l/_Jsst8bpT6PjX
https://dl.doubtnut.com/l/_iRW1sh8N1y7u


B. II

C. III

D. IV

Answer: D

Watch Video Solution

11. Consider the following compounds and answer A and B. 

 


Which of the compounds is the strongest Lewis base ?

A. I

B. II

C. III

D. IV

Answer: A

https://dl.doubtnut.com/l/_iRW1sh8N1y7u
https://dl.doubtnut.com/l/_dLog5VtUmVJQ


Watch Video Solution

12. Rank the non-bonding electrons indicated by the arrows in order of

increasing energy. 

Watch Video Solution

13. In each of the following sections four nitrogen containing compounds

are listed. In the box under each formula write a number (1 to 4)

https://dl.doubtnut.com/l/_dLog5VtUmVJQ
https://dl.doubtnut.com/l/_3A1vhlY6ODpU
https://dl.doubtnut.com/l/_QeiFSBGLb9Wb


indicating the order of base strength. 

Watch Video Solution

14. For the two sets of acids shown below, rank their acidity most acidic to

least acidic. 

Watch Video Solution

https://dl.doubtnut.com/l/_QeiFSBGLb9Wb
https://dl.doubtnut.com/l/_kq5CsoUgDsSm
https://dl.doubtnut.com/l/_EMvHtgYug9SO


15. For the two sets of acids shown below, rank their acidity most acidic to

least acidic. 

Watch Video Solution

16. In each of the following sections four compounds are listed. In the box

under each formula enter a number (1 to 4) indicating the order of acid

strength (1 is strongest & 4 is weakest). 

Watch Video Solution

https://dl.doubtnut.com/l/_EMvHtgYug9SO
https://dl.doubtnut.com/l/_EkqEjx0BMLNG
https://dl.doubtnut.com/l/_4rXZzyYVnW1p


17. In the two questions below, you are asked to rank the relative

strengths of illustrated acids and bases. Use your knowledge of

resonance and inductive to answer this. 

For the series of bases shown below, rank the set from strongest to

weakest. 

Watch Video Solution

18. In the two questions below, you are asked to rank the relative

strengths of illustrated acids and bases. Use your knowledge of

resonance and inductive to answer this. 

For the series of acids shown below, rank the set from strongest to

https://dl.doubtnut.com/l/_4rXZzyYVnW1p
https://dl.doubtnut.com/l/_EIDv64yTE1BN


weakest. 

Watch Video Solution

19. In each of the following sections four compounds are listed.

(Decreasing order of acidic strength, 1 is strongest & 4 is weakest). 

 

Watch Video Solution

https://dl.doubtnut.com/l/_EIDv64yTE1BN
https://dl.doubtnut.com/l/_LE3yXdf7lo1c
https://dl.doubtnut.com/l/_Mf1bwO5ccM39


20. Rank in the order of increasing basic strength. 

Watch Video Solution

21. Compare acidic strength of the following (Write your answer in box). 

 


https://dl.doubtnut.com/l/_Mf1bwO5ccM39
https://dl.doubtnut.com/l/_sNSPQLdydHAl


Watch Video Solution

22. Arrange the hydrogens in increasing order of their acidic strengths. 

Watch Video Solution

https://dl.doubtnut.com/l/_sNSPQLdydHAl
https://dl.doubtnut.com/l/_fB1p0FVyQTLn


23. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds. 

 


Which have carbon-carbon double bonds ?

Watch Video Solution

24. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

https://dl.doubtnut.com/l/_jyj3xvKAgkvu
https://dl.doubtnut.com/l/_y4CwoC4eHoHN


that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds. 

 


Which have a ketone carbonyl group ?

Watch Video Solution

25. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds. 

https://dl.doubtnut.com/l/_y4CwoC4eHoHN
https://dl.doubtnut.com/l/_LNUIsDjfendU


 


Which have an aldehyde carbonyl group?

Watch Video Solution

26. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds. 

https://dl.doubtnut.com/l/_LNUIsDjfendU
https://dl.doubtnut.com/l/_4IOdebCOYKxs


 


Which have aromatic rings ?

Watch Video Solution

27. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds. 

https://dl.doubtnut.com/l/_4IOdebCOYKxs
https://dl.doubtnut.com/l/_neUrasdlyLPE


 


Which have a hydroxy group ?

Watch Video Solution

28. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds. 

https://dl.doubtnut.com/l/_neUrasdlyLPE
https://dl.doubtnut.com/l/_iurUAygAMVcy


 


Which have ether groups ?

Watch Video Solution

29. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds. 

https://dl.doubtnut.com/l/_iurUAygAMVcy
https://dl.doubtnut.com/l/_QkY7BPvEjIeC


 


Which have an ester group?

Watch Video Solution

30. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds. 

https://dl.doubtnut.com/l/_QkY7BPvEjIeC
https://dl.doubtnut.com/l/_bNa6xpsWUYYA


 


Which have an amide group?

Watch Video Solution

31. The compounds whose structures are shown below, incorporate a

variety of functional groups. The question on the right ask you to identify

which compounds have a specific functional group. For each compound

that has the designed group, enter the appropriate number. The aromatic

rings should not be counted as double bonds. 

https://dl.doubtnut.com/l/_bNa6xpsWUYYA
https://dl.doubtnut.com/l/_UUyWdwKySgrD


 


Which have a carboxylic acid group ?

Watch Video Solution

32.  


Which is the strongest acid in 1?

https://dl.doubtnut.com/l/_UUyWdwKySgrD
https://dl.doubtnut.com/l/_DocmS9rzVoMJ


A. A

B. B

C. C

D. D

Answer: B

Watch Video Solution

33.  


Which is weakest acid in 1 ?

A. A

https://dl.doubtnut.com/l/_DocmS9rzVoMJ
https://dl.doubtnut.com/l/_5V54WJEbSNkL


B. B

C. C

D. D

Answer: A

Watch Video Solution

34.  


Which is the strongest acid in 2 ?

A. A

B. B

https://dl.doubtnut.com/l/_5V54WJEbSNkL
https://dl.doubtnut.com/l/_mab3cpviQAfS


C. C

D. D

Answer: D

Watch Video Solution

35.  


Which is weakest acid in 2 ?

A. A

B. B

C. C

https://dl.doubtnut.com/l/_mab3cpviQAfS
https://dl.doubtnut.com/l/_sDbIFcQiHP65


D. D

Answer: B

Watch Video Solution

36.  


Which is the strongest acid in 4 ?

A. A

B. B

C. C

D. D

https://dl.doubtnut.com/l/_sDbIFcQiHP65
https://dl.doubtnut.com/l/_q8mj801zBbKz


Answer: A

Watch Video Solution

37.  


Which is weakest acid in 4 ?

A. A

B. B

C. C

D. D

https://dl.doubtnut.com/l/_q8mj801zBbKz
https://dl.doubtnut.com/l/_GKIdH2Ia0IVr


Answer: D

Watch Video Solution

38.  


Which is the strongest acid in 4 ?

A. A

B. B

C. C

D. D

https://dl.doubtnut.com/l/_GKIdH2Ia0IVr
https://dl.doubtnut.com/l/_v1dl43n5y6po


Answer: D

Watch Video Solution

39.  


Which is weakest acid in 4 ?

A. A

B. B

C. C

D. D

https://dl.doubtnut.com/l/_v1dl43n5y6po
https://dl.doubtnut.com/l/_jBnEgBaiJsWg


Answer: A

Watch Video Solution

40. For each of the six structural formulae (A through F), shown below,

five questions are posed. The answer to each is a number that should be

entered in the appropriate answer box. 

 


https://dl.doubtnut.com/l/_jBnEgBaiJsWg
https://dl.doubtnut.com/l/_luWm38ZFP1Ef


Watch Video Solution

A (i)Number ofsp3carbons: B. Number ofsp3 C.

   .......... carbons:..........

(ii)Number ofsp2carbons: Number of sp2carbons:

     ........... ..........

(iii) Number of sp carbons: Number of sp carbons:

     ........... ..........

(iv)Number of carbon - carbon Number of carbon - carbon

    σ − bonds:.... . σ − bonds:.... .

(v)Number ofπ − bonds to Number ofπ − bonds to

 carbon:...... carbon:......

D (i)Number ofsp3carbons: E. Number ofsp3 F .

   .......... carbons:..........

(ii)Number ofsp2carbons: Number of sp2carbons:

     ........... carbons:..........

(iii) Number of sp carbons: Number of sp carbons:

     ........... ..........

(iv)Number of carbon - carbon Number of carbon - carbon

    σ − bonds:.... . σ − bonds:.... .

(v)Number ofπ − bonds to Number ofπ − bonds to

 carbon:...... carbon:......

https://dl.doubtnut.com/l/_luWm38ZFP1Ef


41. Match the column (I) and (II). (Matrix) 

Watch Video Solution

https://dl.doubtnut.com/l/_kY0tTCtG86ww


42. Match the column (I) and (II). 

Watch Video Solution

43. The junctures centred on atoms A, B and C on the given structure. 

 


Which juncture has the greatest deviation from planarity ?

A. A

https://dl.doubtnut.com/l/_70D9PtPFWtO8
https://dl.doubtnut.com/l/_CZs4Lwq7zoXO


B. B

C. C

D. Cannot be predicted

Answer: C

Watch Video Solution

44. The junctures centred on atoms A, B and C on the given structure. 

 


Of the carbon-carbon bonds, (shown above) numbered from 1 to 4, which

represent the most favourable site for  addition ?

A. 1

B. 2

C. 3

H2

https://dl.doubtnut.com/l/_CZs4Lwq7zoXO
https://dl.doubtnut.com/l/_NgBgMWopqss7


D. 4

Answer: D

Watch Video Solution

45. Select the most stable structure in each of the following 

Watch Video Solution

46. Select the most stable structure in each of the following 

Watch Video Solution

https://dl.doubtnut.com/l/_NgBgMWopqss7
https://dl.doubtnut.com/l/_9Q1LLAaeCFvH
https://dl.doubtnut.com/l/_qKRkmmBG1vRi


47. Select the most stable structure in each of the following 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2C = CH − CH = CH − CH3

H2C = C = CH − CH2 − CH3

H3C − CH = C = CH − CH3

H2C = CH − CH2 − CH = CH2

48. Match the column I and II. (Matrix) 

Watch Video Solution

https://dl.doubtnut.com/l/_QLbX7DM5pj6D
https://dl.doubtnut.com/l/_Ne9FEQrkkrYl


49. Match the column I and II. (Matrix) 

Watch Video Solution

https://dl.doubtnut.com/l/_mt0HG2yarTqR


50. Identify the most stable structure in each of the following: 

 


Watch Video Solution

https://dl.doubtnut.com/l/_uqnyHhBjqhcQ


Watch Video Solution

51. Identify the most basic compound in the following. 

Watch Video Solution

52. Identify the most acidic hydrogen containing compound from the

following. 

https://dl.doubtnut.com/l/_uqnyHhBjqhcQ
https://dl.doubtnut.com/l/_z8KgEYjaaVCy
https://dl.doubtnut.com/l/_BF9Sh8gogy1g


 


https://dl.doubtnut.com/l/_BF9Sh8gogy1g


Watch Video Solution

53.  


Give the type of hybridization present at each atom. 

(i) N - …………. (ii)  ………… (iii)  - ………….. 


(iv)  - ……………. (v)  - …………. (vi)  - ………….

C1 − C2

O1 CH2 C3

https://dl.doubtnut.com/l/_BF9Sh8gogy1g
https://dl.doubtnut.com/l/_etLXQ0fKIH2i


Watch Video Solution

54. Predict the direction of the following equilibrium. Write your answer

in the box given below. 

Watch Video Solution

55. Match the column I and II. (Matrix) 

https://dl.doubtnut.com/l/_etLXQ0fKIH2i
https://dl.doubtnut.com/l/_WlCrBbYHslYa
https://dl.doubtnut.com/l/_ka5ghqVwpuw9


Watch Video Solution

56. Match the column I and II. 

Watch Video Solution

57. Match the column I and II. 

W t h Vid S l ti

https://dl.doubtnut.com/l/_ka5ghqVwpuw9
https://dl.doubtnut.com/l/_NV9MZEUvoY3c
https://dl.doubtnut.com/l/_orXdqQYvG355


Watch Video Solution

58.  


Sum of molecular mass of gas (A + C) is :

A. 88

B. 90

C. 92

D. 40

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_orXdqQYvG355
https://dl.doubtnut.com/l/_LQSPbCigkdzp


59.  gas 


 gas 


 gas 

 gas 


Sum of molecular mass of gas (A + C) is :

Watch Video Solution

Ph −

O

∣ ∣

C − O − H
NaHCO3

−−−−−→ (A)

Ph − C ≡ CH
Na

−−→ (B)

Ph − OH
NaNH2

−−−−→ (C)

R − O − H
NaH
−−→ (D)

https://dl.doubtnut.com/l/_3AvQjZAsZyZU


60. Match the column I and II. 

Watch Video Solution

https://dl.doubtnut.com/l/_GDwQ9Y9NMukt


61. Consider the following reaction of boron trifluoride  and

acetone: 

 


What is the critical HOMO (nucleophile) of this reaction ?

A. A) non-bonding orbital on boron

B. B)  -orbital of acetone

C. C)  -orbital of acetone

D. D) non-bonding electron pair orbital on oxygen

Answer: D

Watch Video Solution

(BF3)

σ

π

62. Consider the following reaction of boron trifluoride  and

acetone: 

(BF3)

https://dl.doubtnut.com/l/_bJgOYibkT9IW
https://dl.doubtnut.com/l/_Ikamf3ViLH8m


 


What is the critical LUMO (electrophile) of the reaction ?

A. p-orbital of 

B.  -orbital of 

C.  orbital of acetone

D. non-bonding electron pair orbital on oxygen

Answer: A

Watch Video Solution

BF3

σ BF3

π ∗

63. Consider the following reaction of boron trifluoride  and

acetone: 

 


(BF3)

https://dl.doubtnut.com/l/_Ikamf3ViLH8m
https://dl.doubtnut.com/l/_XJYMzxogqIl0


Which of the following is the correct product of this reaction ? 

(Lone electron pairs are not shown explicitly).

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_XJYMzxogqIl0


Watch Video Solution

64. Rank the following carbocations according to stability (1 = most

stable, 5 = least stable). 

 


Put the answer in the boxes.

Watch Video Solution

65. Among the given molecules, identify aromatic, anti-aromatic and non-

aromatic molecules. 

https://dl.doubtnut.com/l/_XJYMzxogqIl0
https://dl.doubtnut.com/l/_GftX2Hf6vKYW
https://dl.doubtnut.com/l/_3Zb5gFXpObeH


Watch Video Solution

66. Among the given pairs, which is more reactive towards  (or)

toward hydrolysis. 

AgNO3

https://dl.doubtnut.com/l/_3Zb5gFXpObeH
https://dl.doubtnut.com/l/_aNBVXEjmFCi7


 

Watch Video Solution

https://dl.doubtnut.com/l/_aNBVXEjmFCi7


67. Put the answer in boxes given as directed. 

Watch Video Solution

68. Circle any conjugated portions of these molecules. 

Watch Video Solution

https://dl.doubtnut.com/l/_ENubQiGgkgOi
https://dl.doubtnut.com/l/_FmrVd6C1rcgg


69. Arrange in the order as directed - 

The given alkenes in the order of their stability (1- most stable, 3-least

stable). 

Watch Video Solution

70. Arrange in the order as directed - 

Arrange the following in the order of their acidic strength (1-most acidic,

4-least acidic) 

Watch Video Solution

https://dl.doubtnut.com/l/_ML11u3CxPixd
https://dl.doubtnut.com/l/_4pZMQMcIfTW9


71. Arrange in the order as directed - 

Arrange the following molecules in order of expected boiling point.

(1=highest bpt , 4=lowest bpt.) 

Watch Video Solution

72. Arrange in the order as directed - 

Arrange the following alkenes in order of their stability. (1 = most stable, 5

= least stable). 

Watch Video Solution

https://dl.doubtnut.com/l/_3wLdjC9pDm1b
https://dl.doubtnut.com/l/_KPNBitVyDPXd


73. Match the column. (Matrix) 

Watch Video Solution

74. Identify (+M) mesomeric & (-M) group of following. 

 

https://dl.doubtnut.com/l/_ZsO893a4UKRR
https://dl.doubtnut.com/l/_Axxrg4dCqnwT


Watch Video Solution

75. Identify the following solvents as polar protic (PP), polar aprotic (PA),

non-polar protic (NPP) or non-polar aprotic (NPA). 

https://dl.doubtnut.com/l/_Axxrg4dCqnwT
https://dl.doubtnut.com/l/_Gu5vt7JqAhsv


Watch Video Solution

76. Identify the stronger nucleophile in each pair. 

Watch Video Solution

77. Encircle the molecule as directed : 

Which has higher boiling point : HBr or HCl

Watch Video Solution

https://dl.doubtnut.com/l/_Gu5vt7JqAhsv
https://dl.doubtnut.com/l/_pk2dSjIne6ob
https://dl.doubtnut.com/l/_tEk9oRCsAo8R
https://dl.doubtnut.com/l/_iO4IFcQUgRdU


78. Encircle the molecule as directed : 

Which has a higher boiling point :  or 

Watch Video Solution

CH3 − CH2 − OH

CH3 − CH = O

79. Encircle the molecule as directed : 

Which is more miscible with water ,

 or 

Watch Video Solution

CH3OH

CH3 − CH2 − CH2 − CH2 − CH2OH

CH3 − CH2 − CH2 − CH2 − CH2 − CH2OH

80. Encircle the molecule as directed : 

higher melting point :  or 

Watch Video Solution

CH4 CH3 − CH2 − CH3

https://dl.doubtnut.com/l/_iO4IFcQUgRdU
https://dl.doubtnut.com/l/_XTEjAUbq1bSA
https://dl.doubtnut.com/l/_6NMBXhJjYHyZ


81. Encircle the molecule as directed : 

Which has a higher boiling point : 

or 

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − CH3

CH3 −

CH3

∣

C
∣

CH3

− CH3

82. Encircle the molecule as directed : 

Which is more stable :  or 

Watch Video Solution

BH3 BF3

83. Encircle the molecule as directed : 

Which is a stronger base :  or 

Watch Video Solution

HO − H2O

https://dl.doubtnut.com/l/_P0SwmbGvMrAW
https://dl.doubtnut.com/l/_ii9kIc9gnZk1
https://dl.doubtnut.com/l/_WpEG0d8LujLf


84. Encircle the molecule as directed : 

Which is a stronger base :  or 

Watch Video Solution

HO − HS −

85. Encircle the molecule as directed : 

Which is a stronger acid : HCl or HI

Watch Video Solution

86. Encircle the molecule as directed : 

Which is a stronger acid : HOCI or HCI

Watch Video Solution

https://dl.doubtnut.com/l/_DGmR0yVRscrV
https://dl.doubtnut.com/l/_7nG2PyDHv7YX
https://dl.doubtnut.com/l/_3r38ZTrbQBN7


87. Explain why A has lower boiling point than B ? 

Watch Video Solution

88. Arrange the protons shown in the decreasing order of their

approximate bond energies. 

Watch Video Solution

https://dl.doubtnut.com/l/_aLPaTnia2YGh
https://dl.doubtnut.com/l/_HgLtk0Bl4qbA


89. Consider the H-atoms in the molecule given below and answer the

following. 

 

Identify the type (  or  alkyl, vinyl, allyl etc.) of these H-atoms.

Watch Video Solution

1∘ , 2∘ 3∘

90. Consider the H-atoms in the molecule given below and answer the

following. 

https://dl.doubtnut.com/l/_HSJBcsiVW3sJ
https://dl.doubtnut.com/l/_iHUEO10M8FDn


 

Arrange them in the decreasing order of their case of abstraction (easiest

first)

Watch Video Solution

91. Consider the molecule shown below and answer with respect to

 
Ha → He

https://dl.doubtnut.com/l/_iHUEO10M8FDn
https://dl.doubtnut.com/l/_FPgxqSDaYRAq


 


Identify the type of H-atom (  alkyl, vinyl or allyl)

Watch Video Solution

1∘ , 2∘ , 3∘

92. Consider the molecule shown below and answer with respect to

 
Ha → He

https://dl.doubtnut.com/l/_FPgxqSDaYRAq
https://dl.doubtnut.com/l/_llOx7MXeWPyQ


 


Arrange them in decreasing order of their bond energy.

Watch Video Solution

93. Rank the following carbocations in order of stability (1 = most stable). 

Watch Video Solution

https://dl.doubtnut.com/l/_llOx7MXeWPyQ
https://dl.doubtnut.com/l/_jSEfPBOayNKK
https://dl.doubtnut.com/l/_pLdI3Fmdlx1l


94. Rank the following alkenes according to energy (1 = lowest energy). 

Watch Video Solution

https://dl.doubtnut.com/l/_pLdI3Fmdlx1l


Level 2 Subjective Problems

95. Match the column: 

Watch Video Solution

https://dl.doubtnut.com/l/_iFGQj7BJFSCI


1. How many  carbon in the following ? 

Watch Video Solution

2∘

2. Find out the double bond equivalent (DBE) value of the given following

compound: 

Watch Video Solution

https://dl.doubtnut.com/l/_mVHWRYJ0W1kR
https://dl.doubtnut.com/l/_nNjYH9k2QOmG
https://dl.doubtnut.com/l/_hK0onAWreeJO


3. Total number of functional groups present in the given following

compound : 

Watch Video Solution

https://dl.doubtnut.com/l/_hK0onAWreeJO


4. Total number of a-hydrogen in the given following compound is: 

Watch Video Solution

5. How many carbon atom present in the parent chain in the given

following compound? 

https://dl.doubtnut.com/l/_TbpgFV5kdOsC
https://dl.doubtnut.com/l/_J3G19m29RbJk


Watch Video Solution

6. Total number of DBE value in : 

Watch Video Solution

https://dl.doubtnut.com/l/_J3G19m29RbJk
https://dl.doubtnut.com/l/_bPRiXERCPkP1


7. How many isomers of  reacts with Na metal to evolve  gas ?

(excluding stereoisomer)

Watch Video Solution

C4H10O H2

8. Complete the following reaction

Watch Video Solution

https://dl.doubtnut.com/l/_Fnhso2lH9ZB3
https://dl.doubtnut.com/l/_IgUlahgOLp0M


9. Which of the given following compound will react with  or

soluble in  ? 

Watch Video Solution

NaHCO3

NaHCO3

10. How many compound are stable after deprotonation ? 

Watch Video Solution

https://dl.doubtnut.com/l/_Jgh5DncQmGlB
https://dl.doubtnut.com/l/_Krw0s46JHfu4


11.  


Sum of types of functional group and DBE value for given compound is X

so the value of X-10 is

Watch Video Solution

12. P = Number of anti-aromatic compound, so the value of x is : 

 


Q = Total number of resonating structures of carbonate ion  


R = Number of alpha-hydrogen in given carbocation

[CO2 −
3

]

https://dl.doubtnut.com/l/_XGg9tdKmISZs
https://dl.doubtnut.com/l/_PbCIfEa2Hp19


 


S = Total number of geometrical isomers of

 


T = Number of compound more acidic then  


 


Sum of (P+Q+R+S+T) - is :

Watch Video Solution

CH3– CH = CH − CH = CH2

CH3CH2OH

https://dl.doubtnut.com/l/_PbCIfEa2Hp19


13. X = number of(+M) group attached with phenyl ring, so the value of x

is. 

Watch Video Solution

https://dl.doubtnut.com/l/_L1gGlK1oS7fD

